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[bookmark: _GoBack]On TI DAC EVM, with 50 Ohms to GND on each pin, with full scale input provided, mixer and NCO off, and coarse DAC gain = 10 (20mA), the swing on both legs was 1.1V. This is to be expected since the load is 2X of equation above.
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Analog Output

The DAC38J84 is a current sourcing, high-speed DAC with an adjustable full-scale current of up to 30 mA.
The full-scale output current from the DAC38J84 can be calculated by Equation 1. Veyro is 0.9 V and
typically Rgas is set to 1.9 kQ and coarse_dac is set to 10, which sets the full-scale current at 20 mA. Note
that there is an additional constant bias current of 2.5 mA for each IOUT pin, so the typical range of the
output current for a 20-mA full-scale current is from 2.5 to 22.5 mA.

(coarse _dac +1) Vexrio
= U HP

I0UT g = 64

16 Rpias 1)

To calculate the common mode voltage, first calculate the mid code current given by Equation 2 for
IOUTgss and the total DC impedance to ground. When the DAC drives two parallel 50-Q resistors to
ground for a total DC resistance of 25 Q, this drive translates into a common-mode voltage at IOUT of:
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The single-ended voltage swing at each IOUT pin can be calculated by multiplying the full-scale current by
the total AC impedance seen by each DAC output pin. For Figure 1, the total AC impedance per leg is
also 25 Q.
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So the single-ended voltage range with a 20-mA full scale and the diagram shown in Figure 1 is 62.5 to
562.5 mV, which is within the output compliance voltage of the DAC38J84. The differential voltage swing
between terminals IOUTP and IOUTN is:

Vorr = 2% Vsg = 1Vep (5)




